o, x2 —y2 4+ 3(x +y) & &S FoH?

x+y=V3, x-y=15

O V5+ V3

@ V5+ V10 ® V10+ V3

@ V15+343 ® V15 +443




® y=-3x2



Che-S B B (a+b) = a +2ab+ 1 & 01831 (2x+y—3)?
2 MG Al () 9 LA AL AL

2x+y=AR FOH, Fo7 4=
2x+y-3)?=(A-3)=(9)-
o|A] A tiAlell 2x 4 yE tHASHA
(£A) =(©)-6(2x+y)+9

=4x*> + (©) +y* - 12x -6y + 9

O @ A @ @ 4® ® © (x+y)?
@ © (x+2y)° ® © 3xy




o, 2 AR O] Fha, Alae] Aoz

PN AN

=T~

— 8 8
— 8 8
— 8 8
/
\
SR-c SR--
2$ 1“ = 1@ LTW
N SR--
= ]
~q- - Sg- -
)
S “
— ) — 8
Too- ~g- - ~g--

® x+1,3x+1

@ x+6,2x

® x+3,2x

® x+6,2x+3

@ x+3,2x+1



o)
=7

1

09 352

X2 4+2x-15=01x2-9

@ 5 ® 9

® 3

D1



6. 7t=, A29] Zolo] H|7} 3 : 2 ]2 Wol7t 150cm? ¢l A AFZEE o]
ATt o] o, 7kz o] Aol=?

@ 15cm @ 18cm ® 12cm @ 10cm ® 16cm



@ 6 ® 7 @ 8 ® 9

O 45



241
4

8.  OAPYAA 4x -

o gre?

=3(x-a) o 2Ol x=b=+ Vis & of, %ab

@ -2 @ -1 @1 @ 2 ® 4



2 % 3x% —dx = 2x +m ©] & ZEA] 7] 1% m o] 27

@ 4 @ 2 ® 0 @ -2 ® -4



10. y=ax?+bx+c IHZI} A 2, 3,
o %57} upaA BAo] 2 229

@ a>0,b>0,c>0
®a>0,b<0,c<0

® a<0,b<0,c<0

4 AFBEE ATt 3

@ a>0,b>0,c<0

@ a<0,b<0,c>0



